
Painted Headache Rack
Installation Instructions

Thank you for choosing Go Industries’ products.   For additional installation 
assistance,  please call Technical Support (800) 527-4345 or (972) 783-7444

Page 1 of 1 pages  05/09

420 N. Grove,  Richardson, TX   75081
Tele: (800) 527 - 4345   Fax: (800)  442 - 5263
Web site:   www.goindustries.com
E-mail:   sales@goindustries.com

Parts List:
1 - Painted Headache Rack
2 - “J” Bolts
2 - 3/8” x 7 1/2” HH Bolts
2 - 3/8” x 1 1/2” HH Bolts
2 - 1/2” Flat Washers
4 - 3/8” Flat Washers
4 - 3/8” Hex Nuts

1.   Remove the contents from the box and check for missing pieces or damage.  If parts are missing or damaged,  contact the original place of 
purchase.  Read the instructions completely before beginning. 

2.  Place the painted headache rack on the top of the bed caps.  Align the painted headache rack with the front of the vehicle.  Center painted 
headache rack on the bed caps.  If the foot on the painted headache rack is aligned over the stake pocket use the “J” bolts supplied if the hole 
is in the side of the stake pocket.  If the hole is in the bottom of the stake pocket use the long bolts to attach the painted headache rack.  If 
the foot is on top of the bed cap then use the short bolts to attach the painted headache rack.  A hole will have to be drilled for the bolt to be 
attached.  See Diagram 2.

Bed Cap

Bed Cap

Stake Pocket

Painted
Headache
Rack

Side Stake Pocket Hole

Diagram 1

Diagram 2

View of Painted Headache Rack on Vehicle


